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1. Genetic screening is

{a} analysis of DNA to check the
presence of a particular gene in a
person

r

(b} analysis of gene in a population
{c) pedigree analysis

{d) screening of infertility in parents

2. Which of the following are the major
factors responsible -for the monsoon
type of climate in India?

1. Location
2. Thermal contrast
3. Upper air circulation
4, The Himalayan Mountains

Select the correct answer using the code
given below,

fa) 1 and 4 only
(b) 1,2, 3 and 4
() 2,3 and 4 only

{d) 1,2 and 3 only

3. Consider the following Indian States :
1. Chhattisgarh
2. Telangana
3. Andhra Pradesh
4. Uttarakhand
5. Tamil Nadu
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Which among, tlie States. given above
are the largest and smallest respectively
(in terms of geographical area)? -

{fa) 3 and 4

[ B R
fb} 3 and 2
fc) 1 and 4

- - - Y

(d) 2and5 )

4, Who among the following is considered
as the father of genetic engineering?
fa) Philip Drinker

(b} Paul Berg
fc) Thomas Addison

(d) Alpheus S. Packard Jr.

5. Which of the following cause(s) variation
in the genetic material of progeny?

1. Sexual reproduction

2. Asexual :Eepiroduction

3. Mutation§ '

4. Epigenetic changes

Select the correct answer using the code

given below.

P

{a) 2 only "
(b} 1, 2 and 3

fcg 1,3 and 4

3 yor

{d) 1 and 3.only .
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6. Match List-i with List-II and select the
correct. answer using the code given
below the Lists :

List-T . List-lI
{Plant} (Natural vegetation type)
A. Ebony 1. Moist deciduous
B. Shisham 2. Himalayan moist
C. Walnut 3. Alpine
D. Birch 4. ' Tropical evergreen
Code :
@ A B C D
4 1 2 3
A B C D
4 2 1 3
/) A B C D
3 2 1 4
d A B C D
3 1 2 4

7. Cobalt is associated with
{a) growth hormone
(b) vitamin By,
fc; hemogiobin
{d) intestinal enzymes |

8. Absorption of water in the human body
can be found in

1. renal tubule in kidney
2. hepatic cells in liver

3. large intestine

4, pancreatic duct

Select the correct answer using the code
given below.

fa) 1,2 and 3
i 1 and 3 only
fc) 2 and 4

{d) 3 only

B-ABVB-0-JMO/1A

9, Match List-I with List-II and select the
correct answer using the code given
below the Lists :

List-I . List-lI

{Geological time scale) (Life-form}
A. Pleistocene 1. Mammals
B. Paleocene . 2, Human genus
C. Permian 3. Invertebrates
D. Cambrian 4. Frogs
Code :
@ A B C D
2 1 4 3
b} A B C D
2 4 1 _3
£#/ A B C D
3 4 1 2
{d} A B C D
3 1 4 2

10. Measles is a dis;:ase caused by
(@) bacteria -
{b} virus
f¢} protozoa
(d) worm
11. Neutrophils and lymphocytes originate
from
{a} kidney tubule
{b} spleen
{¢} bone marrow

{d) lymph node
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12. Match List~] with List-II and select the
correct answer using the code given
below the Lists

List-] List-II
{Climate) {Characteristic}
A. Mediterranean 1. Temperature cycle is
- moderated by marine

influence
B. Marine west 2. Warm summers and
coast cold winters with

three months below
freezing. Very large
annual temperature

range
C. Dry mid- 3. Strong temperature
latitude cycle with large
annual range. Warm
summers to hot and
cold winters to very
cold
D. Moist 4, Temperature range is
continental moderate with warm
to hot summers and
mild winters
Code ;
fal A B C D
2 1 3 4
h) A B C D
2 3 1 4
fc) A B C D
4 3 1 2
di A B C D
4 1 3 2

13. Match List-I with List-II and select the
correct answer using the code given
below the Lists : -

List-T List-lI

{Weathering type) {Landform/
Process)
A. Chemical weathering 1. Till
B. Mechanical weathering 2. Oxidation
C. Glacial deposits 3. Plant roots
D. Deposition by ground- 4. Stalactite
water
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Code :

fa} A B C D
2 3 1 4

fb) A B C D
2 1 3 4

ff A B C D
4 1 3 2

fd) A B C D
4 3 1 2

14. The mandate of the scheme entitled
Directly Observed Treatment, Short-
Course (DOTS)’ launched by WHO is to
ensure that

{a} doctors treat  patients with
medicine for a short duration

{b} doctors do not start treatment
without a trial

{¢) patients complete their course of
drug

{d) patients voluntarily take vaccines

18. If a ship has to go from Chennai to Kochi,
it has to go around Sri Lanka rather than
_crossing through the Palk Strait. Why?

fa) The Palk Strait has disputed
islands and the Sri Lankan Navy
does not allow the ships to cross
through

{b) Itis too shallow for ships to cross

fc} Shipping is prohibited through
the Strait due to its religious
significance connected with the
epic Ramayana

{d} The arcund Sri Lanka route is
actually shorter than crossing
through the Palk Strait
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16. Penicillin inhibits synthesis of bacterial
fa) cell wall
{b} protein
fc) RNA
{d) DNA
17. Which of the following State capitals of

North-East India is/are connected by
Indian Railways?

1. Imphal
2. Agartala
3. Kohima
4, Aizawl

Select the correct answer using the code
given below.

fa}] 1,2 and 3
{b) 2 and 4
{0 1,3 and 4
{d) 2 only
18. Most antibiotics target bacterial parasites

interfering with wvarious factors of
growth or metabolism such as

1. synthesis of cell wall
2. Dbacterial protein synthesis
3. synthesis of nuclear membrane

4. mitochondrial function

Select the correct answer using the code
given below, '

fal 1, 2 and 3
foy 1 and 4

{fcj 2 and 3 only
fd) 1 and 2 only
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19. Match List-I with List~II and select the
correct answer using the code given
below the Lists :

List-I List-II
{Region) {State)
A. Baghelkhand 1. West Bengal
B. Kuttanad 2. Madhya Pradesh
C.” Saurashtra 3. Kerala
D. Rarh 4. Gujarat
Code :
/) A B C D
2 3 4 1
) A B C D
2 4 3 1
¢ A B C D
1 3 4 2
{d) A B C D
1 4 3 2

20. Which of the following statements with
regard to Portland cement are correct?

1. Silica imparts strength to cement.

2.  Alumina makes the cement quick
setting.

3. Excess of lime increases the
strength of cement.

4. Calcium sulphate decreases the
initial setting time of cement.

Select the correct answer using the code
given below,

fa) 2 and 4 only
(b} 1 and 3

¢/ 1,2 and 4
{d) 1 and 2 only
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21. Match List-1 with List-II and select the Code :
correct answer using the code given '
below the Lists : - fal A B - D
List-1 List-II 2 4 1 3
(City) (Earthquake zone) ) A B C D
A. Kolkata 1. ZoneV 2 1 4 3
B. Guwahati 2. Zone IV
C. Delhi - 3. Zone Il } A~ B C D
D. Chennai 4, Zone Il 3 1 4 2
Code : ' d A B ¢ D
fg A B C D 3 4 1 2
3 2 1 4
(%) ‘; ? | g : f 24. Match List-I with List-Il and select the
_ correct answer using the code given
g A B C D below the Lists :
4 13 2 3 '
(@ A B ¢C D List-I . List-IT
4 2 1 3 _ (Exponent) {Lawj
22. Red phosphorus is used in the A. John Dalton 1. Law of definite
manufacture of safety matches. This is - proportion by
due to the fact that volume
(a) it shov.vs phosphorescen‘ce. . B. Joeseph Proust - 2. Law of multiple
(b) at ordinary temperature, it is less ;
. e proportion
reactive than other varieties of -
phosphorus ' , C. Antoine Lavoisier 3. Law of definite
fcj it cannot be converted to white proportion by
phosphorus on heating welght_
{d) it does not react with halogen on D. Joseph Louis Gay- 4. Law of conserva-
heating : ' Lussac tion of mass
23. Match List-I with List-Il and select the Code :
correct answer using the code given )
below the Lists :
A C D
(Lake) (Type) |
A. Ashtamudi Kayal 1. Residual (sweet ) A~ B C D
water) 2 4 .3 1
B. Himayat Sagar 2. Lagoon . . i A B C D
C. Dal Lake 3. Glacial 1 4 3 2
D. Tsomgo Lake 4. Artificial (sweet
8 waton) @A B C D
1 3 4 2
B-ABVB-O-JMOQ/ 1A . 10
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25. Match List-1 with List-Il and select the Code ;
correct answer using the code given {a) A B c D
below the Lists : 1 4 2 3
Lise o mA B c oD
{Farming areq) {State} © A B o D
A. Doab 1. Assam 3 4 2 1
@ A B C D
B. Char 2. Karnataka 3 2 4 1
C. Maidan 3. Punjab 28. Which one of the following statements is
) not correct? '
D. Terai 4. Uttar Pradesh fa) Water starts boiling when its
vapour pressure becomes equal to
Code : atmospheric pressure. .
@@ A B C D fb} Water is known as universal
3 2 1 4 solvent. _
b} A B c D f¢) . Permanent hardness of water is °
3 1 2 4 due to presence of MgCl,, CaCl,,
@ A B C D MgS0, and CaSO,.
4 ! 2 3 {d) Density of ice is greater than that of
(@ A B ¢ D water,
4 2 1 3
29. Which one of the following is the pattern
26. Which of the following is not gaseous air of circulation around a low-pressure
pollutant? area in the northern hemisphere?
fa) Ozides of sulphur {aj Counter-clockwise and away from
{b) Oxides of nitrogen the centre
fc) Hydrocarbon - {) Clockwise and away from the
{d] Smoke centre :
27. Match List-I with List-II and select the (e E:;r:;er-clockuuse and towards the

correct answer using the code given

below the Lists : {d} Clockwise and towards the centre

30. Which one of the following is not true for
List-] List-II

Steel mill Stat. diamond?

(Steel mill) (State) fa} Each carbon atom is linked to four
A, Kalinganagar 1. West Bengal other carbon atoms

. ' 1 {b) Three-dimensional network struc-

) B Vijayanagar 2. T . Nadu _ ture of carbon atoms is formed
C. Salem 3. Odisha {c) It is used as an abrasive for
sharpening hard tools

D. Durgapur 4. Karnataka 2P g

(d) It can be used as a lubricant
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31. Which one of the following statements
about the atmosphere is correct?

(@)

(b)

{c)

(d}

The atmosphere has definite upper
limits but gradually thins until it
becomes imperceptible,

The atmosphere has no definite

upper limits but gradually thins
until it becomes imperceptible.

The atmosphere has definite upper
limits but gradually thickens until
it becomes imperceptible.

The atmosphere has no definite
upper limits but gradually thickens

"until it becomes imperceptible.

32. The atomic theory of matter was first
proposed by

' faj
{b}
fc)
(d)

John Dalton
Rutherford
J. J. Thomson

Niels Bohr

33. Which one among the following statements
about diastrophism is correct?

()

(b}

fc

(d)

The forces may be so slow and
gradual that they pass unnoticed
for a long period of time.

The forces may be hoth slow and
sudden that they pass for a short
period of time. '

The forces may be sudden and so
fast that they pass unnoticed for a
long period of time.

The forces may be slow but for a
short period of time.

B-ABVB-0O-JMO/1A
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34. A body is falling freely under the action of
gravity alone in vacuum. Which one of

the following remains constant during
the fali?

faj

{b}

fc)

(@)

Potential energy
Kinetic energy
Total linear momentum

Total mechanical energy

35. X-rays are

{a)
(b
(c}

(d)

deflected by an electric field but not
by a magnetic field

deflected by a magnetic field but
not by an electric field

deflected by both a magnetic field
and an electric field

not deflected by an electric field or
a magnetic field

36. Which one of the following minerals
contains mostly silica?

fa)

(b}

(¢}

(d)

Mica
Quartz
QOlivine

Pyroxene
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77 dR-+R o A 9 § W 0% 6 ag
T F W FCY

(@) Tguew B Atk s dd T
Tt Wy q® MR- T G S R 9
7+ % 1% e 7 8 W)

32. T @ ToniEE Rl WM A e
fa?

fa} <M ETeeA
(b) THE

{c} o Ao AT
(d) Fa s

33. waaEwn & 1 A fisfafgs w0 7 9
- O T 27

fa) 9 304 He o whe B TR € B R
T T T sl W @)

(b T W IR arEftE A & @ o
M6 7 e OHY T d B '

() aa ArHEm R g aw a3
TR T % v 9 T

(d) < R g eq gHa % fre B T §
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34. wi§ g Fae Terd-TE F ordm fEfa d e

w # in @ 3| Frfafes 4 @ ¥R o,
e % e, R = /ot Tl R7

(o) Tofes 5=

(b) TSt it
) Fa W@ €

(c) waﬁ%ﬁaw

35, X-frwt

() T im0 Rakw 2 2 g v=fa
27 g0 e Al

(b) Feebg &3 T fodita 9t 2 wig fempq
&7 g T Bt

(c) F=bm & i Tog 29 291 g &
fa&fg aid &

(d) Toe &= @1 gk @ g fdfa o
Rt & .

36. Prfafiea whl # @ 5 & & gom: R

et &7

@) T

(b) S

fcj SRM

{d) aridA
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37. The focal length of the lens of a normal

human eye is about
(@) 25 cm

() 1m

f¢) 25 mm

(d 25 cm

38. Which one of the following statements

is correct?

{a) Cold fronts move at slower rate
than warm fronts and therefore
cannot overtake the warm fronts.

{b} Cold fronts normally move faster
than warm fronts and therefore
frequently overtake the warm
fronts.

fc) Cold fronts move at slower rate,
and eventually they are overtaken
by the warm fronts.

{d) Cold fronts move faster than warm
fronts but they cannot overtake the
warm fronts,

39. Which one of the following physical

quantities is the same for molecules of
all gases at a given temperature?

{a) Speed
b} Mass
{c) Kinetic energy

-

{d) Momentum

B-ABVB-0-JMO/ 1A

40. Newton’s laws of motion do not hold good

for objects

{a) at rest

{b) moving slowly

fc) moving with high velocity

{d) moving with velocity comparable to
velocity of light

41. Which of the following elements are

found in highest and lowest quantities
respectively in the crust of the earth?

@) Oxygen and silicon
fb} Calcium and sodium
fc) Sodium and magnesium’

fdi Oxygen and magnesium

42. Which one of the féllowing statements is

not correct?

fa}j Weight of a body is different on
different planets,

{b) Mass of a body on the earth, on the
moon and in empty space is the
same.

fc} Weightlessness of a body occurs
when the gravitational forces acting
on it are counter-balanced.

{d) Weight and mass of a body are
equal at sea level on the surface of
the earth. '

43. A brick is thrown vertically from an

aircraft flying two kilometres above the
earth. The brick will fall with a

fa} constant speed
{b) constant velocity
fc) constant acceleration

{d}. constant speed for some time then
with constant acceleration as it
nears the earth




37. Tt = wme of@ % oW i wiww

o Rt @t 27
{a) 25 cm

) 1m

{c) 25 mm

{d] 25 cm

38, fnafafag st § A F9-w = wd 37

¥

(o) Yiaram, IVEEW 6 e g2 1 R
o & o wafere svemm 4 s 3@
e wd |

(b SiEITT SIS ISUE e o
T A e § SR gl sgun W
B I Frera I E

fc) YaaTa YR W8 M § Feld ¥ AR
37aq: IWETEH ST A e w2

(@) e, soEman B e 3w ol |
Toid & WY 9 IVEEE A o T Freea
|

39. ffafen oifvs TRm A | =F-0 o, Rl

for o amEm w B Al ¥ empslt ¥ fow
oM gl 27

fa) =@
b} F=EE
f¢) TS I
(d) |
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40, = % Tt % Frm I aegelt ¥ fo ww

g,

fa) fomm g

() WIRRRBE

) FMmAMRBH

(d) TETH F A F A 1A T W R

43, Tfafen o=t § 9 FR-§ -0 § FEm:

arfershan urn o fan W § 9 o 87
(o) S ik R |
b} Ffeamm i difean

() uiEm i Aefifirm

() SR 3R Aefifiem

42. ﬁﬂ%ﬁiﬂmﬁlﬁﬁﬂﬂﬂ@ﬂﬁﬂ%i’

(g Tt st iz ar e @ w
fi=-fim g 21

(b) Tt off iz =1 5w gl |, S5 W
3R A s § TR A R

(o) Tt oft i & yofim 6t &, [o W
A 9 e adl ¥ IRl 89 ®
Bt 21

(d) Y=t i wag W EgE o W B o fog
F R 3R THAA G T 8

43, gt A q fcimier I 3 3¢ e IR @

wF $z Fxafr Sl ol R f2
(a) TRt are | fiuh
(p) TBR 3 4 foh
(c) T&r = § v

(d) Fo qma @& B =1a A fih o fR
gedi o fiehe M W R T & fired

(P.T.O.




44. This item consists of two statements,

Statement I and Statement IL
Statement 1 ;

The Kuroshio is a warm north-flowing
ocean current on the west side of the
North Pacific Ocean.

Statement 11 :

Presence of a number of volcances at
the bottom of the Sea of Japan is
responsible for the Kuroshio becoming
warm,

Examine these two statements carefully
and select the answer to the item using
the code given below.

Code ;

{a) Both the statements are
individually true and Statement II
is the correct explanation of
Statement 1

{b) Both the statements are
individually true but Statement II
is not the correct explanation of
Statement |

{c) Statement] is true but Statement II
is false

{d) Statement I is false but Statement II
is true

. The outside rearview mirror of modem

automobiles is marked with warning
“objects in mirror are closer than they
appear”. Such mirrors are

{a) plane mirrors

(b} concave mirrors with very large
focal lengths

) concave mirrors with very small
focal lengths

{d} convex mirrors
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46. A Bill is deemed to be a ‘Money Bill’ if it

has any provisions dealing with

1. imposition, abolition, remission,
alteration or regulation of any tax

2. appropriation of money from the
Consolidated Fund of India

3. imposition of fines or other
pecuniary penalties

4. payment of fee for licences or fee for
service rendered

Select the correct answer using the code
given below,

fa) 1 and 2 only
{b) 1,3 and 4
fo) 1,2 and 3

{[d 2 only

47. Consider the following statements about

Alauddin Khalji’s market policy :

1. He placed markets under the
control of a high officer called
‘Shahna’ for strictly controlling the
shopkeepers and prices.

2. In order to ensure a regular supi)ly
of cheap food grains, he ordered the
land revenue from Doab region to
be paid directly to the State.

Which of the statements given above
is/are correct?

fa) 1 only
(b} 2 only
{c/ Both 1 and 2

(d) Neither 1 nor 2




44. @ I H & o €, w1 3R %u 11

FHEIL

FfweN, 390 yxid GR F qiEH B T @
FI FAUNGE YR TR ur R |

w11 :

ST TR & AuEae § A saremygiagl f
ferprra TN & Fin W F fou Jewerh
Rl |

T BN FeET f wEaEt ¥ whan Fiivm eiv
I fm MU R B WM W T HIW

ke
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fa) 3 B FoR orE-Em G BN
HH 11, F9 1 1 T8 e &

(b) I & FeA STOm-ow @@ &
A 11, A 1 O W A R

¢ A1 TE N owme ?

() FFRIEAR R FRITER

45. gR MOl % a1 va-g 99w (R,

) m e Cedn § Rew awft agd
el @ fm @ &, o0 wfm € o et
21 %8 Ty

fa) EWAT T4 A R
(b} Wmﬁmgﬁmﬁma&mﬁé%
(c) TET T BIAE g0 T STEad Tdn B §
{d) IR <0 g B
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46. i fa9ys ‘a7 fadys’ aft w0 som, @

FEF B I
1. Tt = % aihdam, wmAmEd, wiEn,
ofEdq o1 e @ defta &

2. 9N 6 wha fifa 8/ W % fafwm @

Haiftr &
3. g W I e &F F arfmm @

4. wguiE & o g WA T ded &

T o % Hem @ gatva §

. A g g e w1 wEn R A IR g
(@) FaEE 132
() 1,33R4
) 1,233

{d) ¥m2

47. AR faosh f Tm fifd & s R

fafafiaa woAt w e iRt .

1. gFRed ik it w geh 8 FEhw
A $ T 3 9N @ wEA AHE
T At % FEEe | @

2. o T Fafe g ghia FA %
fore 3T amRwm Ren 5 Qo & R
q-Terd @ ol yam asa 1 fea
S|

I FeAT § 4 FH-T1/D w96 /77
{fa) Fad 1

(b) ¥a@ 2

fc 13R23IA

(d A 13MMAE 2
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48. Which one of the following is nota part of

service sector in India?

fa} Transport

(b} Construction

{c} Hotels and restaurants

{d} Insurance

49. Which of the following is/are not

central feature(s) of Article 343 of the
Constitution of India?

1. Hindi in Devanagari Script shall be
the national language of the Union.

2. The official language of the Union
shall be Hindi in Devanagari Script.

3. English la.nguagé shall continue to
be used for official purposes within
States.

4. N two or more States agree, Hindi
language should be the official
language of communication
between the States.

Select the correct answer using the code
given below,

fa) 1, 3 and 4
{b}) 2 and 4 only
¢/ 2,3 and 4

{d) 2 only
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50. Match List-1 with List-II and select the

0

correct answer using the code given
below the Lists :

List-I List-IT
{Term) (Meaning)
Mihrab 1. Stepped pulpit
Mimbar 2. Direction towards the
Kaba for prayer
Khutb_a 3. Arch
Kibla 4, Sermon
Code :
fd A B C D
2 1 4 3
) A B C D
2 4 1 3
) A B C D
3 1 4 2
(dl A B C D
3 4 1 2

51. Under flexible exchange rate system, the

exchange rate is determined

{al predominantly by market

mechanism
{b) by the Central Bank

fc} as a weighted index of a group of
currencies

{d} by the World Trade Organization

S52. After the general elections, the Pro tem

Speaker is
fa} elected by the Lok Sabha
(b} appointed by the President of India

c} appointed by the Chief Justice of
the Supreme Court

' fd) the senior most member of the
Lok Sabha




48, fefaia ¥ | #9-W @, @ § ¥ & 50, T B T ¥ @ gfem Hfm ik

¥ T v TE Y gieri & iR fer e g2 w1 W@ W qd ITW
EE
{a) TEE -1 qH-11
’ (V=) (wreh)
k) fw A 1. e
@ e st . B. fiyreR 2. ;ﬁﬁ%ﬁ?ﬂqwaﬁ
(@ @ | C. g 3. qw
D. freem 4. uHqew
T2
49, frefofem § 4 #R-H, v F @R F @ A B C D
. ag=Re 343 B FA e/ fdward 2 1 4 3
B ' () A B C D
1 Fad Ry i R w A g gy 2 4+ 13
. - fe) A B C D
2. g & gavny = el fefv A 2ol 3 1 4 2
3. T U wehg waeA ¥ fom emeh () A B C D
WIS S YA T e w®mi 3 4 1 2
4. IR W s 77 wEwa €, N A F 51. T i w weh % i, Rfrm @ frer
e @R B o = oo 96 Zr/fre w1 1 fuifa o 27
wewl (a) WO WS CEH FW
(b} HEA T T
= R Ty g2 W @ WA IR g (o) e e 5 e e 5
@ L 3sa (d) faa =R @A T
52. 3 THE F AR, FUFEHA AA
(b} ¥ 2 3R 4 {a) VYR T 3R Traie R e 2
. (b) E % opafa R P R v 2
() 2,334 : (c) IR AR % e Al T e
| for wme &
d ¥ 2 . (d) TR B FT AFAH T Tl B
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53. Match List-I with List-II and select the
correct answer using the code given
below the Lists :

List-1 - List-I
(Person) ' {Work)

Uddanda 1. Sudhanidhi
Sayana 2. Mallikamaruta

Yadavaprakasa 3. Malatimadhava

v o w >

Bhavabhuti 4. Vaijayanti

Code :

{a A B
2 1

b A B
3 4

fe) A B
2 4
B
1

fdj A
3

0 =0 =0 +0
Ng @O Ng wQg

54. Which one of the following is not correct
in the context of industrial clusters
development in India? : '

{a} Industrial clusters play an
important role for the MSME
participants in their inclusiveness,

technology absorption and efficiency

improvement

{b} Industrial clusters are visible in
traditional handloom, handicrafts
and moderm SME

{c¢/ Industrial cluster programmes in
India are administered by various
ministries

{d) Industrial clusters lead to

promotion of monopoly in the

market

0
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586. Match List-I with List-I[ and select the
° correct answer using the code given
below the Lists :

List-f List-H
(Leader) (Party)
., - A, Shyama Prasad 1. Communist Party of
Mukherjee India
B. Minoo Masani 2. Bharatiya Jana
' ' Sangh
C. S. A. Dange 3. Swatantra Party
D. Ashok Mehta 4. Praja Socialist Party
Code : '
fa A B C D
' 2 3 1 4
fb} A B C D
4 1 3 2
fc) A B ¢ D
2 1 3 4
{d A B C D
4 3 1 2

56. The Rihla was written in

{a) Arabic in the Fourteenth Century
by Ibn Batmta

{b) Persian in the Fifteenth Century by
Abdur Razzaq

fc) Persian in the Thirteenth Century
by Ibn Battuta

{d} Italian in the Thirteenth Century by
Marco Polo

57. Contribution of the manufacturing sector
to environmental degradation primarily
occurs during
1. procurement and use of natural

resources
2. industrial processes and activities
3. product use and disposal
Select the correct answer using the code
given below.
faj 1 only
(b} 2 and 3 only
fc/ 1 and 2 only
{d) 1,2 and 3




53. T¥H ® T=-I F w9 gERm Ay iR

T ¥ R fw g\ W R W

g :
-1 -1
(=atw) ()

A. 3T 1. gy

B. ¥EY 2. Wi

C. TEavyHE 3. W

D. " 4. Idl

TE

f A B C D
4

{c)

0
w
o

w

(d)

54. wa # ohife wg feewm ¥ waf #

frfafaa 3 & FA-w w8 ¥t 87

(a) s wqg, MSME Tenfiat % fm,
o gOETH, Wb e et

2 QR A TEerqe offteR frm #

(o) s wHR, AU REE,
Feafye ofr syfis SME § g #

) wma ¥ hafem wr wdEn Rfw
et gR gfere frn s €

(@ ife g | sIvm & it W
LECERG B
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55. T=i-1 B TH-II % Wy PkE e v

T 0w e

g % 4 Ry T g2 w1 wEn | @ ITW
g

-1 Tqei-11

(vram) ()
MR gEst 1. 9RdE S O
. g e 2. wWitda A W
. WHo To BM 3. @Wa W
. 279 HEd 4. yan |z e
w2
(@@ A B C D

2 3 1 4
() A B C D

4 1 3 2
) A B ¢ D

2 1 3 4
() A B C D

4 3 1 2

56, Reon fored vl w8 «fi?

fa) e T = A T AR A

(b) UrEdl VAT § SEEEAE TN BEE! §

fc) e YT # 3= A T wRE §

(@ Fedl sl d A ol g s
(gefemm) A

57. wiawia Feem 8n § ffw g ged:

Forerr /1% 3R e B 27

1. TR EEeE I R I
2. N giam it Friwem

3. IR 39 3R Feer

A=t T e g2 = T R Ed s g
(@ F41
(b} FaA 233
) Faa1aiR2
@ 1,23m3
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58. Which of the following is/are not central
tenet(s) of the Constitutioni of India?

1. Prohibits discrimination on
grounds of religion

2. Gives official status to - certain
religions

3. Provides freedom to profess any
religion '

4. Ensures equality of all citizens
- within religious commaunities

Select the correct answer using the code
given below.,

faj 1,2 and 3
{b) 3 and 4 only
(c/ 2,3 and 4
(df 2 only

59. The “Sur Sagar’ is

fa} a medieval treatise on music
composed by Tansen

{b) a poetic work of Surdas
{c) memories of Bahadur Shah Zafar
| {d} None of the above
60. Private investment in Indian agriculture

is mostly on labour-saving mechaniza-
tion. This could be a response to

fa) rising productivity of agricultural
sector

(b) rising inequality in agriculture

fc) rising wages and tighter labour
market

{d} debt write-off by the Government

B-ABVB-0-JMO/1A
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F . | |

. 1. Which of the following facts are related to
Burma (Myanmar}?

1. It shares its borders with India,
China, Bangladesh and Vietnam,

It is ruled by a military government.

3. The National League for Democracy
was not allowed to contest the
elections held in the year 2010.

4. Myanmar is a member of ASEAN.

Select the correct answer using the code
given below,

fa) 1and 3
b) 2, 3 and 4
fc) 1,2 and 4
{d 1 and 2 only
62. 1'J.‘Jho among the following was not a
painter at Akbar’s Court?
fa) Daswanth
{b} Abdus Samad

{c} Kalyan Das

{d) Basawan

63. Which one of the following is the major
source of gross tax revenue (GTR) for
the Government of India?

fa} Income tax
{b} Corporation tax
fcj Customs. duty

{d) Service tax




s8. frfvias § | aﬁ?—m/ﬁ, YR % HlEuH 61
%1 /o g Togia il 2 /87
1. U8 99 o uR W &AuE # 9k wE
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g HATT TF] B IER TfE 3 ¥y

2.
3. & o f o = oo f wma T
B}

4. TR aIF TR % ok |4 il fi
T a2

i fiw e e # v e wd sw g
fa) 1,23

(b) ¥ 3 3R 4

() 2,334

(d) ¥=q 2

59. ‘@ R W Y

| fa) A gTa e wia w AvwEe vE
(b) TR H F
fc) FER ¥R SR 1 Fferl
(&) ST 4§ HE T

60. it Ffu § el faw stftma sm =1 9w
TefR R 21 48 TR vfalk & s @
Tl 87

(@ FN &Tw R wed i s
(b) - F # 7gd g swEEa

() Fef & wogiEl ok RaPa wm
E1E 10

{d) VTER T HAO H 92 TR H Sl
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 frefaien § ¥ #9-3 9@ w (i) 2

waitm §7
1. 3a6 vR4d, <, SRy v fraem
qweh g £y

g8l =1 TR F AEA B

2.

3. ¥ 2010 ¥ g TE R wEa &fm wh
SHIHHI B FAE TSR W AETG 6 &
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4. WM AIRAT (ASEAN) F1 936 2|
= R T g2 W W = T I g
fa) 133

(b} 2,334

¢ 1,234

[d) ¥ 1R

, 62, T8 Y PR FAHE F @R § T @ 917

() TEEE
(b) IZE
{c) T S

(d) =/

63. F=fdiag T @ $H-81 UF, YRA SR F a5

W T (GTR) i J&4 9 27
fa) SR

(b) Frm-=m

(c) HHI-ToH

(@} HaN-T
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64. Which of the following are members
of BRICS?

faj Bhutan, Russia, India, China and
Sri Lanka

{b) Brazil, Russia, India, China and
South Africa

fc} Brazil, Russia, Indonesia, China
and Singapore

{d} Bangladesh, Republic of Korea,
Indonesia, Canada and Sri Lanka
65. After the death of Shivaji, there was a
fight for succession between
f) Shambhaji and the widow of Shivaji
fb) Shambhaji and Bajirac
fe} Rajaram and Shambhaji
{d) None of them
66. Which one of the following is a
non-renewable resource?
{a} Solar energy
{b} Coal
{c¢} Water
{d) Fisheries
67. The Panchsheel Agreement’ for peaceful
coexistence was signed between
{a) India and Bhutan
{b) India and Nepal
{fc} India and China .

{d} India and Pakistan
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68. Match List-I with List-II and select the
correct answer using the code given
below the Lists :

List~] List-II
{Author} {Work}
A. Somadeva 1. Ma!avikagnimitra
B. Kalidasa 2. Kathasaritsagara
C. Bhasa 3. Chaurapanchasika
D. Bilhana 4. Svapnavasavadatta
Code :
fa) A B C D
2 1 4 3
fb) A B C D
3 4 1 2
fcg A B C D
2 4 1 3
(d A B c D
3 1 4 2

69. Which one of the following is mot an
example of externalities?

{a)
(b}

{c)

{d

Pollution of air by a cement factory

Health hazard caused to the person
due to smoking by himself/herself

Smoke coming out of neighbour’s
vehicle

Increase in land price of adjacent
plots due to construction of a road
by the Government

70. Rio + 20’ is the short name for

{a)
(b}

{c)
{d

Millennium Development Goals

United Nations Conference on
Sustainable Development

Earth Summit
Post-2015 Development Agenda




64

65

. Trafafian § % =19 BRICS & wewg §7

f@) M, ¥4, wRE, SN S sficiw
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{a) TR S RErsh 6 g
() TR AR s

fc} TR 3R sh
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66. Frefafiga 4 @ $R- wF, sFheia e

67

¥

(@ A
(b) FHEH
(c) i

(d) TSR
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(@ e o R
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{b)
fc}

{d)

1.

(@)
(b}
{c)

(d)

71. Patanjali was

{a)

a philosopher of the Wogachara’
school '

the author of a book on Ayurveda

a philosopher of the ‘Madhyamika’ -

school

the author of a commentary on
Panini's Sanskrit grammar

72, Which of the following statements in
the context of income-environment
relationship is/are correct?

Pollution trends tend to follow
an inverse-U shaped relationship
across different stages of economic
development, -

In the beginning stage, pollution

increases due to urbanization and
industrialization.

In the later stage, pollution declines
due to structural changes towards
services sector.

Select the correct answer using the code

given below.
fa) 1 enly

- fb} 1 and 2 only
fcg 1,2 and 3

{d} 2 and 3 only

Argentina
Paraguay
Uruguay
Chile
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73. Which one of the following is not a
member of MERCOSUR (Southem
Common Market)?

28

74. Match List-I with List-1I and select the
correct answer using the code given
below the Lists :

List-I List-IT
{King) (Region)

A. Shashanka 1. Assam

B. Kharavela 2. Maharashtra

C. Simuka 3. Orissa

D. Bhaskara Varman 4, Bengal

Code :

@A B C D
4 2 3 1

W A B C D
1 3 2 4

) A B C D
4 3 2 1

d A B C D
1 2 3 4

75. Which one of the following represents a
progressive tax structure?.

fa) Tax rate is the same across all
incomes

{b) Tax rate increases as income
increases

fc) Tax rate decreases as income
increases

{d) Each household pays equal
amount of tax
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76. The Constitution of India guarantees
freedom of thought and expression to all
its citizens subject to

1. implementation of Directive

Principles
2. PFundamental Duties
3. Right to Equality

Select the correct answer using the code
given below, -

{a) 1 and 2 only
i(l‘;} 2 and 3 only
{f¢; 1 only

{d 1, 2and 3

77, In ancient India, the Yaudheyas' were
{a) a sect of the Buddhism
{b) a sect of the Jainism
{fc) a republican tribe
{d) Vassals of the Cholas

78. Which one of the following is an example
of a ‘natural monopoly'?

fa) Indian Airlines
(b} Delhi Jal Board
fc) Delhi Transport Corporation
{d} Steel Authority of India
79. Which one of the following is not a
component of the Realist Theory?
fa) The State is the preeminent actor

(b) State sovercignty is important
for the affirmation of juridical
authority over territory

{c) The primary objective of all States

is survival
(d} Survival can be assured in
¢ cooperation with  international
organizations -
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80. Thé Dashakumaracharita or ‘Tales of Ten
Princes’ was composed by

fa) Bhatti
{b) Banabhatta
{c; Bhasa
(d) Dandin

81. What is meant by price discrimination?

fa) Increase in price of a commodity
over time -

(b} A situation where the same product
is sold to different consumers for
different prices

fc) Subsidization of a product by the
Government to sell it at a lower
price

{d) General decrease in price of a
commodity over time

82. Which one of the following dees not form
part of Immanuel Kant's theory of
‘perpetual peace’™?

{a} Republican Constitutionalism

{b} Federal contract among States to
abolish war

“fe) World Government

{d} Transformation of individual
consciousness

83. Borobudur is the site of

fa} a huge temple of Vishnu and
Shiva in Java, built in the
12th Century AD

f#} an enormous Stupa in Java, built
in the 8th Century AD

(¢} a magnificent palace of a Chola
King in Tamil Nadu

{d} a Jain Maonastery in Gujarat




y
|

76. WRA H WATR, I @l T B Rewd/
e o W@ ge, R @ afveats 6
A i e 37
1. Tre= &=t 1 sai=
2. W@ FA
3. W #1 AR
= & T F2 W W FE IR gfa)
(@ ¥4 1 3R 2
fb) Few 2 3R 3
{c) ¥ad 1
(d) 1,233

77. TH @ # Aew’ Fm 9
{a) <EHE F TH Uy
{b) SFIE W TF Y
fc) TF UGS S
{d) Il F WA

78. Prfafm 4 @ F¥9-m ws, ‘wofie e
1 JaTE B7

(o) I T
(b fg
(c) T ofmen fom
(d) v e i

79. Frafafea & 4 F9-w o, wgad fagla =
= T R
{a) T4 48 el &
() TER F I Tl v & afimmm &
A g 1 wygar wewE &
fc) TG U1 61 WA Ry I &

() IGhfam STRiPE wedl ¥ Wi Q
anafyd 6 s g 2

B-ABVB-O-IMOC/1A 31

80. IFARERT WA T THFAR F Fard’ R
T Afi?

fa) w3
(b) ~ITOTE
(c) W
() T

81, Fima fde w wn e {7

(a) iR i Frelt 7 9 B A i

(b) T RfGH, e o @ v A
TEH B A~ WG T A A
2

fc) foef 3R T TR S IRE R S
Fored 30 F fima T a9 W T

(d) T Teg $i Fiwa T FETR A T 9
WG

82, Freffe & & A o, T e &

o Tt % g o R

(a) TOREE GiuHaR

(b) & T T T F P A H AN
wefty dfes

{c) 5@ awR -

(d) =afE <wn w wE

83. Eﬁﬁ@'{ﬁ?ﬂﬂﬂ%%?.

(@ wmn# 128 waved feft ¥ b fawy
3R i w1 & fawrem w1k

(b) wﬁsﬁméﬁﬁﬁﬁﬁh@m
L
() TiveeTg # e <A T v Hed

(d) TR 4 U SH 98

[P.T.O.




84. What is meant by ‘Public Good’?

fa} A commodity produced by the
Government

{(b) A commodity whose benefits are
indivisibly spread among the entire
community

{c} A Government scheme that benefits
the poor households

{d) Any commodity that is very popular -
among general public

85. Which one of the following statements
about the process of the Parliament to
make new States is not correct?

faj The Parliament may by law form a
new State and alter the boundaries
or names of existing States.

{b) A Bill to this effect cannot be
introduced in the Parliament
except on the recommendation of
the President.

fc) A Bill to this effect may be referred
by the President to the Legislature
of the affected State.

{d) Such a law will fall under the
purview of Article 368.

86. Which one of the following statements
with regard to India’s economy between
1814 to 1860 is not correct?

{a) Between 1814 and 1850, four
commodities dominated India’s
exports—raw silk, opium, cotton
and indigo.

{b) Between . 1814 and 1860, five
commodities dominated India’s
exports—raw silk, opium, cotton,
indigo and jute,

f¢ Indigo and raw silk required
processing techniques.

{d} Indigo and raw silk were financed
by foreign capital.
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B87. In view of the fact that kerosene is an

inferior good in India, what is/are its
implication{s)?

1. As households get richer, they

consume less kerosene.

2. Qver time there is a decline in
quality of kerosene,

3. Government needs to  stop
subsidies on kerosene.

Select the correct answer using the code
given below.

{&) 1 only

b 1 and 2 only
fc) 2 and 3 only
{d 1,2 and 3

88. Which of the following statements with

regard to citizenship provisions of the
Constitution of India is/are correct?

1. No person shall be a citizen of India
by virtue of Article 5, or be deemed
to be a citizen of India by virtue of
Article 6 or Article 8, if he/she has
voluntarily acquired the citizenship
of any foreign State.

2. The Parliament has power to make
any provision with respect to the
acquisition and termination of
citizenship and all other matters
relating to citizenship.

Select the correct answer using the code
given below.

fcy 1 only
{b} 2 only
{c) Both 1 and 2

{d} Neither 1 nor 2
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89, The protection against arrest and

detention under Article 22 of the
Constitution of India is not available to

1. an enemy alien

2. a pers'on detained under a
preventive detention law '

3. a foreigner .

4, an overseas citizen of India

Select the correct answer using the code
given below.

fa) 1 and 2 only
) 1,3 am-i 4
¢ 1,2 and 3
{d) 3 and 4 only

90, Which of the following statements

about the Hastings Plan of 1772 is/are
correct?

1. Each district was to have a civil and
a crtminal Court.

2. The Judges were helped by native
assessors who were skilled in
Hindu and Islamic laws.

3. The Sadar Diwani Adalat was
mainly meant to settle mercantile
cases exceeding ¥ 10,000 in value,

4, These Courts did not put into place
any procedural improvements.

Select the correct answer using the code
given below.

f) I and 2
{p} 3 and 4
fo} 2 and 4

{d) 2 only
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91. Which of the following statements about

the formation of the Indian National

Congress are true?

1. The Indian National Congress was
formed at a national convention
held in Calcutta in December 1885
under the Presidency of Motilal
Nehru.

2. The Safety Valve Theory regarding
the formation of the Indian
National Congress emerged from a
biography of A. O. Hume written by
William Wedderbum.

3. An early decision was that the
President would be from the same
region where the session was to be
held.

4, W. C, Banerjee was the first
President of the Indian National
Congress.

Select the correct answer using the code

given below,

{af 1, 2 and 4

(b} 2 and 3

{c) 2 and 4 oniy

(d} 1 and 3
92, Which of the following factors led to

a decline in inflation rate in India

during 201420157

1. Persistent decline in crude oil
prices

2. Softness in global prices of
tradables such as edible oils and
coal

3. Tight monetary policy pursued by
the Reserve Bank of India

Select the correct answer using the code

given below.

{@ 1 only

{b) 1 and 2 only

{c} 2 and 3 only

fdj 1,2 and 3
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93. Freedom of conscience under the

Constitution of India is subject to
1. public order, morality and health

2. a law providing for social welfare
and reform

3. opening Hindu religibus institutions
of a public character to all Hindus

4. defamation or incitement to an
offence

Select the correct answer using the code
given below.

fa) 1,2, 3 and 4
B 1,2 and 3 only
{c) 3 and 4 only

{d) 1 and 2 only

94. Which of the following Fundamental

Rights is/are available to non-citizens?
1. Equality before Law

2. Right against Discrimination

3. Equality of Opportunity
4

Protection of Life and Personal
Liberty

Select the correct answer using the code
given below.

fa) 1 only
) 1 and 4 only
fc) 1,2 and 4

{d} 2 and 3

B-ABVBE-O-JMOC/1A

95. Which of the following statements
about the formation of the Constituent
Assembly is/are correct?

1. The members of the Constituent
Assembly were chosen on the basis
of the provincial elections of 1946,

2. The Constituent Assembly did not
include representatives of the
Princely States.

3. The discussions within the
Constituent Assembly were not
influenced by opinions expressed
by the public.

4. In order to create a sense of

collective participation, submissions
were solicited from the public.

Belect the correct answer using the code
given below,

{a) 1 only

(h) 2 and 3
¢ 3 and 4
{d) 1and 4

96. Which of the following statements about

Jyotirao Phule’s Satyashodhak Samaj

Movement in Maharashtra is/are true?

1. The Satyashodhak Samaj was set
up in 1873.

2. Phule argued that Brahmins were
the progeny of ‘alien’ Aryans.

3. Phule’'s focus on the Kunbi
peasantry in the 1880s and 1890s
led to a privileging of Maratha
identity.

Select the correct answer using the code
given below,

fa) 1 and 2 only

b) 2 only
f¢¢ 1 and 3 only
{d 1,2 and 3
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97. Which of the following laws have been
repealed by the Constitution of India?

1. ‘The Government of India Act, 1935
2. The Indian Independence Act, 1947

3. The Abolition of Privy Council
Jurisdiction Act, 1949

4. The Preventive Detention Act, 1950
Select the correct answer using the code
given below.

fa) 1 and 2 only

) 2 and 4 only .

¢ 1 and 3

{d} 1,2 and 4

98. Which of the following statements about
Maulvi Ahmaduilanh Shah, who played
an important part in the Revolt of 1857,
isfare correct?
1, He was popularly known as Danka

Shah or the Maulvi with a drum.

2. He fought in the famous Battle of
' Chinbat.

3. He was killed by British troops

Lawrence.
Select the correct answer using the code
given below.
; (a} 1 only
(b) 1 and 3
fc; 2and 3
fd) 1 and 2

99, A writ of Habeas Corpus for the release of

a person can be issued

1. where the arrest or detention has
taken place in contravention of the
procedure established by law

2. to secure the release of a person
imprisoned on a criminal charge

3. where the arrest has taken place

for contempt of Court or the
Parliament

B-ABVB-0O-JMO/1A

under the command of Henry

38

Select the correct answer using the code
given below.

@) 1,2 and 3
(b} 2 and 3 only
{c; 1 only

{d) 1 and 2 only

100. Who among the following is the

author of the autobiography entitled
Aamar Katha (1913)?

fa) Satyajit Ray

{b) Rassundari Devi

fc) Ganesh Chandra Ghosh
{d) Binodini Dasi

101. Which one of the following statements

about the Companies Act, 2013 is not
correct?

fa) The Act regulates the corporate
sector to make it accountable.

(b} 1t provides for Corporate Social
Responsibility.

{c} Tt provides more opportunities for
new entrepreneurs.

{d) It enables wide application of
Information Technology.

102. Which one of the following changes has

not been made to the Citizenship Act of
India by the Amendment in 2015?

{a) The Overseas Citizens of India will
now be called the Overseas Citizens
of India Cardholders

{bj The Non-Resident Indians are
entitled to vote in elections in India

{fcj The Persons of Indian Origin have
been placed at par with the
Overseas Citizens of India

{d} The Persons of Indian Origin are
now entitled to lifelong visa to visit
India
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103. Name the French revolutlonary who
wrote Declaration of the Rtghis of Woman
and Female Citizen.

{a) Olympe de Gouges
fb} Nancy Ruhling
{c} Maximilien Robespierre

{d) Mary Wollstonecraft

104. Which one of the following statements

about Electoral Government in India is
not correct? .

faj The superintendence, direction and
control of elections are vested in
the Election Commission of India.

{b} There is one general electoral roil

for every territorial constituency.

(¢} The Parliament has the power to
make laws relating to the
delimitation of constituencies.

{d} The Supreme Court of India has the
authority to scrutinize the validity
of a law relating to delimitation of
constituencies.

105. The electronic voting machines are

developed jointly with
1. Bharat Heavy Electricals Limited
2. Bharat Electronics Limited

3. Electronics Corporation of India
Limited

4. Bharat Sanchar Nigam Limited

Select the correct answer using the code
given beiow,

@) 1,2 and 3
{b) 2 and 3 only
fc) 2 and‘ 4

(d} 3 and 4
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106. Which one of the following is not a

recommendation of the Fourteenth
Finance Commission?

{a} Share of States in Central Divisible
Pool is increased from 32 per cent
to 42 per cent

(b} Area under forest cover is an
important variable in distribution
of States’ share among States

{¢) Fiscal discipline is dropped as a
variable in distribution of States’
share among States

{d) Sector specific grant is recom-
mended as in the previous Finance
Commissions

107. Khan Shaheb Osman Ali Stadium is

located at
fa} Karachi
{b) Dhaka
fc) Fatullah

{d) Chittageng

108. May 31 is celebrated as World No

Tobacco Day’ by the World Health
Organization. Which one of the following
was the theme of the ‘World No Tobacco
Day, 20157

{a) Raise taxes on tobacco

{b} Stop illicit trade of tobacco
products '

{c/ Ban tobacco advertising, prornotlon
and sponsorship

{d) ‘Tobacco-free youth
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109. Government of which ong of the following 112. Who is .the current Vice Chairperson of
States has (in May 2015) decided to . NITI Aayog?
withdraw the Armed Forces (Special
Powers) Act from the State? {faj Raghuram Rajan
: {a) Tripura , . .
. : {b) Arvind Panagariya
L (b} Assam '
i fc) Bibek Debroy
' fe) HNagaland
(@) Arunachal Pradesh (@) V. K. Saraswat
110. Which of the following statements with 113. Which one of the following is not
regard to New Development Bank provided regular budgetary support by
BRICS, formerly referred to as the the Ministry of Defence?
BRICS Development Bank, is/are
correct? fa) Himalayan Mountaineering Institute,
1. The Headquarters of the Bank is ' Darjeeling
situated at Moscow, Russia.
2. K. V. Kamath is the first President () Inst:tute f;r Dge?}f_e Studies and
of the Bank. _ Analyses, New Delhi
Select the correct answer using the code {c) Armed Forces Tribunal
given below.
d) United Service Institution of India
@) 1on { .
@ by ' New Delhi
() 2 only - *
! {c) Both 1 and 2 114, In April 2015, India and France agreed
: to conclude an inter-governmental
(d) Neither 1 nor 2 agreement in respect of which one of the
following platforms?
111. Weibo is a social media platform :
popularly used in ) {a} Rafale Medium Multirole Combat
: Aircraft -
{a) South Korea
{b) Scorpene Submarines
(b) China
{¢) Thailand {c) Infantry Mobility Vehicles
{d} Japan . {d) Precision Guided Munitions System
B-ABVB-0~JMO/1A 2
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109. il % & fF9 o wsy f =R 3
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witdraw # 30 79 A Tl w1 Fofa Rt

@ frgu
(b} T
fc) MR

(d} FETES WeW
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(b} =42
fe) 132 A
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111. % A ffen Qe €8 (Weibo), %1
SRR R I B B
 (z) < R
® <
(c) wuidied

(d) ST
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115. Which one of the following statements
’ is incorrect?

{a}

(b}

(c)

" (d)

India is the third largest importer of
the defence equipment.

India meets more than 50 per cent
of its requirement of the defence
equipment through imports.

Defence budget for
accounts for less than 2 per cent of

. the GDP,

Certain ﬁhanciéd powers 'ali'c
delegated to the Vice Chief of Army
Staff for capital acquisitions.

116. ‘Arihant’ is the name of

]a;

(a}

(b}

fc}

@

an infantry combat vehicle
a ballistic missile
an attack he]icbpter

a nuclear powered submarine
. &

117. Where was the 14th Asia Security
Summit (Shangri-La Dialogue) held in
May 20157

t

{al

(b)

3

Beijing

Bangkok

f) Jakarta

(dj

Siﬁgapore .
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118. Which one of the following is not correct

about

the

Defence Research and

Development Organization (DRDOJ)?

(@

{b)

(c/

(d}

DRDO was formed in the year 1958

It is a network of 10 laboratories
engaged in developing defence
technologies

DRDO operates under the Ministry
of Defence

Some of its major products include
development missiles, armamerits,
light combat aircrafts, etc.

119. Red Flég’ is the name of a joint exercise
between India and which one of the
following countries?

(a)
(b)
{c)

(d)

China
Saudi Arabia
UsA

Japan

120. In November 2014, which one of India’s

neighbouring

countries allowed a

Chinese submarine to dock at one of its
ports?

{a)
(b)
()
()

Bangladesh
Sri Lanka
Maldives

Pakistan
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(d) Tamg
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